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#solve sudoku from MJ2006

table=[[]]*9

table[0]=['-','-','-','A','-','S','T','E','W']

table[1]=['E','-','G','-','-','-','-','-','-']

table[2]=['-','-','T','O','-','W','-','-','-']

table[3]=['-','-','S','-','-','-','R','-','T']

table[4]=['-','A','-','G','-','R','W','H','-']

table[5]=['T','-','R','-','-','-','A','-','-']

table[6]=['-','-','-','E','-','A','S','-','-']

table[7]=['-','E','A','R','-','-','H','-','G']

table[8]=['R','-','-','S','-','G','-','-','O']

symbols=['A','E','G','H','O','R','S','T','W']

def show_table():


for r in range(9):



for c in range(9):




print table[r][c],




if c==2 or c == 5:





print ' ',



print ' '



if r == 2 or r==5:




print ' '


print '---------------------------'

print "start"

show_table()

def get_free_letter_indices(index):


row = index/9


col = index %9


base_row = row/3


base_row *=3


base_col = col/3


base_col *=3


free_indices = [1]*9


for i in range(9):



c = table[row][i]



if c != '-':




free_indices[ symbols.index(c) ] = 0


for i in range(9):



c = table[i][col]



if c != '-':




free_indices[ symbols.index(c) ] = 0


for i in [0,1,2]:



for j in [0,1,2]:




c = table[base_row+i][base_col+j]




if c != '-':





free_indices[ symbols.index(c) ] = 0


result = [n for n in range(9) if free_indices[n]==1]


return result

def solve(index):


row = index/9


col = index%9


c = table[row][col]



if index == 80: # final cell!



if c != '-': #already done!




show_table()



else:




free_indices = get_free_letter_indices(index)




if len(free_indices)==0: # blocked!





return




for n in free_indices:





table[row][col] = symbols[n]





show_table()




table[row][col] = '-' # reset






else: # still more to go



if c != '-': #already filled in




solve(index+1)



else:




free_indices = get_free_letter_indices(index)




if len(free_indices)==0: # blocked!





return




for n in free_indices:





table[row][col] = symbols[n]





solve(index+1)




table[row][col] = '-' # reset

solve(0)

